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Resource: Skill Two

Level 2 Award


OCR Level 2 Award in Thinking and Reasoning Skills J930

This resource is designed to accompany the OCR Level 2 Award in Thinking and Reasoning Skills for teaching from September 2009.

This resource supports the teaching of Skill Two: Evaluating Arguments.

Thinking and Reasoning Skills
Skill 2 – Finding best fit between reason and conclusion
Circle the reason which in your view best supports each conclusion.
Discuss your answer with a partner.

Conclusion 1: Ipods should not be allowed in schools.
Reasons
A) Ipods are expensive and not all pupils at school own one.

B) Most pupils who listen to ipods while at school don’t concentrate on their lessons and fail their exams.
C) Some school children find listening to an ipod helps them concentrate.

Conclusion 2: Pupils should not be allowed to carry knives in school.
Reasons
A) Knives are dangerous weapons.
B) Some pupils want to carry knives for their own protection.
C) Lots of pupils own a knife.
Conclusion 3: There should be more women rugby players.    
Reasons
A) Women are not as aggressive as men.
B) Women represent half of the world’s population.
C) Women are just as good at competitive contact sports as men.
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